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Given: f(x)=x2-x+1
\/ Ao
simplify:  f(h™-3) _/f(fg,\) 64_\)
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Does the equation represent y as afunction of x?
1952 + 2 =2
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Evaluate the functionwhen x = 0.

—

) - {:{3+E, ¥ <0
x-2, % =0¢

Your Answer | — e
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Symmetry?

X+ 3=y2

-\ o

| x-1] =y
[2-1]

-2-1\=3

\

X AXI1S 4
,_]_: Yes
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Test review.notebook September 08, 2017

Relative tothe graph of £{x) = x°, howisthe graph of g(x) shifted?
gixy=x3-9

© a. 5 units upward
© b. & units left

© c. & units right

Units downward
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Write the equation of the function given the
following:

Square root function reflected in the x-axis,
vertical shrink of 1/2 and 4 units down

“(% -4
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Ay
)[3’5] mz )O‘_'XL(p
for the functions

VAVEA
fx) = Tx and g(x)= 36 - 2 —y 04%£

. 20 ~Lextl

}(:r:j and ( %

Find the domains of (

| -

© a. Domain uf( é ):[III,E] Darmain uf( % ):[III,E]
3, - x*=
Dnmain nf( é ):[D,Ej Darmiain nf( % ):[D,E] (X
; O<Xsl
© c. Domain nf( ~ ):[—m,Ej Darmain Df( % ):(-5,51

g
© d. None of the above.
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Given f(x1= x-6andgi{x)=16- x¢ | find

EQQIHIHII-

Oa -2 = b -(%-t )z

@b -x-12x +20

.-x2+1zx-zn = ‘Um?’@

© d. %2 +12x + 52 = [kp-)(z+l2><-3b
= —)(_11—[’2,)(,"20

10
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-1 19
5 (x)= ——Itheinversefunction of f{x)= —— %
— ] -1

O a. Yes q@(x? (xu ”S"l'l')
(5

© . No - EJ‘X “l2 e+ 13
Xl =\ _ 3(‘“

5

ND'
d,otﬁh'l' S\"“f'(/
o "X
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3
-ind the inwverse function of X= \‘ Y-\—ZO
. 3
(xy=Wx +20. Xa—_ \/+ZO

@ a f1(x1= x-20 U—_ )(_3-20—]

@) b, This function has no inverse function.

-*' (%)= x%-20

©) o. Mone of the above.

12
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Find the zeros of:

3x -15
2x + 7

=0

3x- (5=0
X=5
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